ASSESSMENT TEST 2
Class:V  Subject: Maths F.M: 20

Q1. Fill in the blanks:- (3)
a) The result of is called
difference.
b) 495 x = 495000.
c) The result we get after multiplication
is called
Q2. Choose the correct answer:-. (2)
a) The bigger number in subtraction is
called
i) Minuend ii) Subtrahend

iii) difference
b) Multiplication is repeated




i) addition ii) subtraction
iii) division

Q3. Subtract 1,89,46,549 from 3,00,04,538.
(2)

Q4.Multiply :- 5738 x 523 (3)

Q5.Fill in the boxes:-. (3)

Q6. A factory produced 22,81,45,684 pens
in the year 2018 and 25,30,22,478 in the



year 2019. How many more pens were
produced in the year 2019 than in 2018?
(3)

Q7. The cost of one car is ¥14,56,395.
Find cost of 29 such cars. (4)



